A STORY OF UNITS Lesson 1 Problem Set

Name Date

1. Fillin the blanks using your knowledge of place value units and basic facts.

a. 23x%x20 b. 230x20
Think: 23 ones x 2 tens = i é tens Think: 23 tens x 2 tens = ‘746 kb{ﬁdffds
23x20= O 230x20=_ 4600

_%._ e

c. 41 x4 d. 410x400
41lonesx4ones=164 _ dNESD 41 tens x 4 hundreds = 164 7%10(,/5@ V‘ds
axa=__)GY 410 x 400 = ZQi000

e. 3,310x 300 f. 500 x 600 4}6

n

33‘ tens x j hundreds = 993 Ih,(zuﬁhéj 5 hundreds x “ hundreds = 30 jh(yjavbi g
3,310 x 300 = ﬂﬂﬁ,OOO 500 x600=_3 0O 09000

2. Determine if these equations are true or false. Defend your answer using your knowledge of place value
and the commutative, associative, and/or distributive properties.

a. 6tens=2tensx3tens 6X(b=(oo =
00=%0%§o ’?{1\56 asies 3 3 XAGE QOK&O'QOO
b. 44x20x 10 =440 x 2 ‘Egl&f Uy 2% o x o= 88 x10° :,%%Oo
4o x2o- ey Ao x 2 = B8O
c. 86o0nesx90 hundreds=860nesX900tensTrM€/ S0 A a6 N6 = %(,XO[OOO
- S Y
3<.><0§}ooo = BbxAgoo —— :‘(7”\)060

O

d. 64x8x100=640x8x 10 T R &O\Oﬁ)( 0 = gw%‘xq‘izg)
c400 X% = (Yoorg A& =14 ,0
Y XEXIW° = gl 2XlO0 = 9\200

l Lesson 1: Multiply multi-digit whole numbers and multiples of 10 using place
EUREKA value patterns and the distributive and associative properties.
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A STORY OF UNITS

Lesson 1 Problem Set m

7 x2x loxiox{ o= ||} X 1000
e. 57x2x10x10x10=570x2x 10 ;\l‘-{aac—)a

1\*)000 ==l c0 Eesmoanla s - 1oo. <5

o (&
=
il
3. Find the products. Show your thinking. The first row gives some ideas for showing your thinking.
A, 7x9 7 %90 70x 90 70 x 900
=63 =63 x10 = (7 x10) x (9 x 10) =(7x9) x (10 x 100)
=630 =(7x9)x 100 = 63,000
=6,300
b. 45x3 45 x 30 450 x 30 450 x 300
x5 =\25 X1 (Ag AOX(Gx(©) :(H&X'@XC%*“’C’)
- go  =(453¥)x(eo) f@x%j ¥ (1oe0)
= (ke R
c. 40x5 40 x 50 40 x 500 400 x 5,000 iEo0
=200 =@x!")’<9"@ = YyIOX5XIeP = 4 x102 X 5
S o e soRlpeR 32 NOSh S
= 200000°
= 2,000 = 20, 0°0 7 J
d. 718 x2 7,180 x 20 7,180 x 200 71,800 x 2,000
- l’-—;é(ﬂ :G(gxua)@xfa) =718 X 0X2Xloo =714 loe X 2 Xieel
7 y : :
= |, 436 X (00 = [,436X10%° - 436 x logpoe
s R = | 436000 = Tis el
a.l‘{_trEHI(A s T



A STORY OF UNITS T Lesson 1 Problem Set m

4. Ripley told his mom that multiplying whole numbers by multiples of 10 was easy because you just count
zeros in the factors and put them in the product. He used these two examples to explain his strategy.

7,000 x 600 = 4,200,000 800 x 700 = 560,000
(3 zeros) (2 zeros) (5 zeros) (2 zeros) (2 zeros) (4 zeros)

a. Ripley’s mom said his strategy will not always work. Why not? Give an example.
506 x40 = 20000 14 +hg faclors (j/i/e a
o X 16 ~ 1eeo p/odé/(t with esdret zeres
That s'frczf\'cjy of ceun f!l‘lj

Zetos do nsT wor A.

5. The Canadian side of Niagara Falls has a flow rate of 600,000 gallons per second. How many gallons of
water flow over the falls in 1 minute? /., cen

——n ()
660 c0O 3/5.% w'i ,j;‘ciO,ézo

Imun = 60 sec &6

3¢, oo, 006 ga oS of Waf@r f’/Ou/
in pue mipule.

6. Tickets to a baseball game are $20 for an adult and $15 for a student. A school buys tickets for 45 adults
and 600 students. How much money will the school spend-for the tickets?

ahalts . hokels  BE - < us
20 U,__ju: . XZ2o
5’(‘4&@"‘/ s 5 o dL,J 2 ?5 i/j\’”‘
“@o ger il
g(/‘}:/ %00 % BO°

The 50‘/100‘ wll SPCV\C\ 4 9,900

Lesson 1: Multiply multi-digit whole numbers and multiples of 10 using place
Eu “KA value patterns and the distributive and associative properties.



A STORY OF UNITS Lesson 1 Homework m

Name Date

1. Fillin the blanks using your knowledge of place value units and basic facts.

a. 43x30
Think: 43 ones x 3 tens = ‘ ! rs ' i tens
43x30=1,29 O

b. 430x30

Think: 43 tens x 3 tens = l L I hundreds
430x30=1 Zg] oo
c. 830x20
Think: 83 tens x 2 tens = 166 hu V'Arf(’l S
830x20=_14,6 00
d. 4,400 x 400
4 hundreds® 4 hundreds=176 _tein thouse ‘/‘Ci5

4,400x400=_L,/ LOpoC

e. 80x5,000
5 tens x 5 thousands = 40 1g A Jfko usa V\CLS
80x5,000=_40 Q,OOO

2. Determine if these equations are true or false. Defend your answer using your knowledge of place value
and the commutative, associative, and/or distributive properties.
a. 35 hundreds =5 tens x 7 tens T‘. \'\8

- 5)5 o = 2;)5@0

b. 770x6=77x6 x 100 Fals@

=420 ’*Q(‘-’;’ZOO

c. 50 tens x 4 hundreds = 40 tens x 5 hundreds TI’MC
=500 X Hoo = yee X500
= 200p00 = 20 coo®
d. 24x10x90=90x 2,400 {
oS &
= 24do X0 ‘F

=21600  =2)ppu0

Eu “KA i Lesson 1: Multiply multi-digit whole numbers and multiples of 10 using place

value patterns and the distributive and associative properties.



A STORY OF UNITS Lesson 1 Homework |

3. Find the products. Show your thinking. The first row gives some ideas for showing your thinking.

a. 5:%5, 5 x50 50 x 50 50 x 500

=25 =25x 10 =(5x10)x (5% 10) = (5x5)x (10 x 100)

=250 = (5% 5) x 100 = 25,000
=2,500

b. 80x5 80x 50 800 x 500 8,000 x 50
- = ) -, S ’O)

oo = o Xloo = B X0 xg X0l ‘.(75>< gooo) >(9 Xt

= LhoOO = 4o X000 040 X |6,000
= L!O@}OOO = L{OOQOOO

c. 637x3 6,370 x 30 6,370 x 300 63,700 x 300
-l ={i»1 16 x0) g@sw@féﬂm) (@37 1) (3 X160)
=(QU X100 Z\qU1 X 1,000 =|g)| % 1g2e°
= 160 = 1a11,000 = 1ap\e e

4. A concrete stepping-stone measures 20 square inches. What is the area of 30 such stones?

5'{8(7{"% hmmt‘ ! /—-—:;—340:"/“ 30
Stove : af

g etz < =2
20 iwn 320 N — e o

. 2=
20w

o B
The cueat of 30 shones 16 oo tn

5. A number is 42,300 when multiplied by 10. Find the product of this number and 500.

it ol U 42,200 Seo 4,220 %8500 = —
e e y,220
wloer 15 X%@@g p
3

4,250 pulhy ylwi by B00 gives aps oducio €
EUREKA Lesson 1: Multiply multi-digit whole numbers and multiples of 10 using place 2) l ‘ 5 ) @ o O

value patterns and the distributive and associative properties.




Lesson 1: Multiply multi-digit whole numbers and multiples of 10 using Place
value patterns and the distributive and associative properties.



A STORY OF UNITS Lesson 2 Problem Set

Name Date
1. Round the factors to estimate the products.
a.. 597 %52 = (/OO X 50 = QO,OOO
A reasonable estimate for 597 x 52 is 50}00 O
b.~ 1,103 x59 = //000 X QO = GQ}OOO
A reasonable estimate for 1,;[03 x 59 is é O / aﬁo
¢. 5840x25~_ (000 P < /5@000

A reasonable estimate for 5,840 x 25 is /g&/ 00& ;

2. Complete the table using your tinderstanding of place value and knowledge of rounding to estimate the

using place value patterns.

product.
Expressions Rounded Factors Estimate
a. 2,809x42 ; 3,000 x 40 120,000
b. 28,090 x 420 50/000 x 400 /5}00%0@0
) ;
Y Oooo
c. 8932x59 9,000 x O sYée
d. 89tensx 63 tens 20 Tens X €O tens |54 @)(9 oo
FAo 30
e. 398 hundreds x 52 tens -71() o h uhdfidj X 5a ‘&'\I : X N
20866 S 2¢ Gpe ek
EUREKA i Lesson 2: Estimate multi-digit products by rounding factors to a basic fact and
|

MATH



A STORY OF UNITS Lesson 2 Problem Set

3. For which of the following expressions would 200,000 be a reasonable estimate? Explain how you know.

2,146 x 12 : 21,467 x 121 2,146 x 121 ?E 21, 477:x1;207
2000 X110 207041_»((0::) 2,000 %[O 20,000 X | Coe
A 0)000 2 OO0 2O Oc> 29 cocgo ©

4. Fill in the missing factors to find the given estimated product.

a. 571x43=__ OO x 4o = 24,000
b. 7%6xBid= - (00 e = 490,000
¢ 8379xsa1~ SO0  x 500 = 4,000,000

5. There are 19,763 tickets available for a New York Knicks home game. If there are 41 home games in a
season, about how many tickets are available for all the Knicks’ home games?

Tic\/\c‘{'i ‘ ~ - /
i 00 - IIeS% 205 aghpesio
Home qamey Al ~ He = 00,000

s N’n’\cﬁl are about 900/‘009 \’Hé\@%f

6. Michael saves $423 dollars a month for college.

~a. About how much money will he have saved after 4 years?

- Dwe wior months U232 = Yoo ;‘22

20,0 90
Midnael will sowe about

b.  Will your estimate be lower or higher than the actual amount Michael will save? How do you know?

420,304 423

420,000 %f&%—f{
Mv{ cﬁJCWwIJ(@ 15 low@r % ¢$3@Ll 20304 =

EUREKA j Lesson 2: Estimate multi-digit products by rounding factors to a basic fact and

— using place value patterns.
MATH 8



A STORY OF UNITS Lesson 2 Homework m

Name Date

1. Round the factors to estimate the products.

a. 697x82= 100 x 50 < 5Q’OOO
A reasonable estimate for 697 x 82is_ /000

b. 5897 x67 = lo)000 70 %) L/&O)OOD
A reasonable estimate for 5,897 x 67 is _12201 00 v ;

aias LD - ) . 645 0,. Oco
A reasonable estimate for 8,840 x 45 is 0,000 .

2. Complete the table using your understanding of place value and knowledge of rounding to estimate the
product.

Expressions Rounded Factors Estimate
a. 3,409x73 3,000 x 70 210,000
b. 82,290 x 240 50,000 ¥ 200 Uolbo e
c. 9,832x39 \©,00° X {o 4o opOO
d. %S%egxssgzo lootens X 4o {ewvs Hoop & o
n i [qpohndieds xB0 | BIFBomo

3. The estimated answer to a multiplication problem is 800,000. Which of the following expressions could
result in this answer? Explain how you know.

8,146 x 12 81,467 x 121 8,146 x 121 81,477 x 1,217
oD% (O g0, w0 X100 B X |00 80,000 X \, 000
o1 o, 00 ,; 000
86,000 §,000,0 800, Oco 8o, 002,
EUREKA ‘ Lesson 2: Estimate multi-digit products by rounding factors to a basic fact and

using place value patterns.

MATH



ASTORY OF UNITS Lesson 2 Homework m

4. Fillin the blank with the missing estimate.

a. 751x34= g OO x 5 Q = 24,000
b s2zxems_ OO~ OO = 420,000
c. 7,939x541= 3 ; o0 i« 500 = 4,000,000

5. Inasingle season, the New York Yankees sell an average of 42,362 tickets for each of their 81 home
games. About how many tickets do they sell for an entire season of home games?

T&C;C;S@l 42 362 Ho,000 ;{o,o%
, > 8O 2200000
Hewe games 1~ ~Zz05°

o The Yankees sell 3,200,000 tiekels

6. Raphael wants to buy a new car.

a. He needs a down payment of $3,000. If he saves $340 each month, about how many months will it
take him to save the down payment?

Down Paymn"' 3 Yo 300 R e = 56%
% 3,000 3043 =10

4 240 'Raphael will a¥e l.O months

b. His new car payment will be $288 each month for five years. What is the total of these payments?

345

mewthly g

75 /V\'\' I YO

iy o ARNSIENGE, -
2%% :

5 71(:0\‘(5
= LO mov\‘\kﬁ

Raphac\ ‘s 'hf\a\ 1s 417,280

Eu“KA ’ Lesson 2: Estimate multi-digit products by rounding factors to a basic fact and

MATH.. using place value patterns.

10



Lesson 3 Problem Set m

A STORY OF UNITS

Date

Name

1. Draw a model. Then, write the numerical expressions.

a. The sum of 8 and 7, doubled Q7< (@ 1’7 >

T | BT 7
: FEd L

b. 4 times the sum of 14 and 26 L{X (\([~ +2>@>

@){7) A2 = (\q»rz@xq s
\5 *2 = B P e ot
30 \&O

c. 3times the difference between 37.5and 24.5 | d. The sum of 3 sixteens and 2 nines

3n (37.5-245) @NQ + @x9) e
/‘“/5_.2":{;5 37.5 "r(;l ' WQ_«
\

21 2‘4‘5
'S —(z.0°

* 2
pee

e. The difference between 4 twenty-fives and 3

é:;“;a)__ (3)415> 5% (3;2»* +2:f> =
‘ 3 (80 ) =

| \gO
@-%}%25 . E—\/D' =7
e

%E"‘; -

f. Triple the sum of 33 and 27

} K LS
25
Write and interpret numerical expressions and compare expressions

| Lesson3:
‘ using a visual model.

EUREKA
MATH



A STORY OF UNITS

Lesson 3 Problem Set , :

2. Write the numerical expressions in words. Then, solve.

Expression Words The Value of the
Expression
a. 12x(5+25) Twelve frmes the fofal o =
l%\égo filve andl Twcm‘}y-ﬁ ve /éD@
b. (62-12)x11 |[Elevein Thmwws Flie differevce
g’gz U gff 5%:‘!‘\1;3&»)0 jmdﬁ “f‘h:z!/& 55@
c. (45+55)x23 e y- nree Thienes /
z}gaoxfs sum of fuvty -five iw& Lty e 24209
d. (30x2)+(8x2) TV@ avm of Two e S
@O;z e ‘Hnwi'gy and. eght times Jwo. 76

3. Compare the two expressions using >, <, or =. In the space beneath each pair of expressions, explain
how you can compare without calculating. Draw a model if it helps you.

a. 24x(20+5) @ (20 +5)x 12
2d | > |12
b 1827 @ 20 twenty-sevens minus 1 twenty-seven
Geox27)=(27)
| |9 x27
c. 19x9 @ 3 nineteens, tripled
Bx19)x3
LS
o x4
EUREKA Lesson 3: x\::':]tge :Ci :‘r;tle;‘g)r:;;\umerical expressions and compare expressions

MATH

12



A STORY OF UNITS : Lesson 3 Problem Set .+

e o
4. Mr. Huynh wrote the sum of 7 fifteens and 38 fifteens on the board. 7X /6 )+ (5 g'x IS)

PR Rl s X115
6 3 ~ s 22

5. Two students wrote the following numerical expressions. 3 _ZE,L:‘S’
Angeline: (7 + 15) x (38 + 15) %15-
Meiling: 15 x (7 + 38) R S

1S

Are the students’ expressions equivalent tcl(\ij:/r answer in Problem 4? Exgla:n your answer.
=
Nes, they are. Bsth are correct
Thew are using the distrloutive pro pecty
i Offerent ways:

6. Abox contains 24 oranges. Mr. Lee ordered 8 boxes for his store and 12 boxes for his restaurant.
a. Write an expression to show how to find the total number of oranges ordered.

Ovam&es  hoxes 5 g—HZ)"‘-—'— s
O s S T

b. Next week, Mr. Lee will double the number of boxes he orders. Write a new expression to represent
the number of oranges in next week’s order.

24 % ($H12)x2 =

el Dy s Koo ' ,
Zux to = [Beooerans|

c. Evaluate your expression from Part (b) to find the total number of oranges ordered in both weeks.
= — T
fiest wee b 4go B0

- 4 &0
Second weel~ feo i{«%%

thietotol - wiinc ok oralges o 3¢9

Lesson 3: Write and interpret numerical expressions and compare expressions

EUREKA using a visual model.
MATH 13




Asma?u;umrs = =

- Lesson 3 Homework m

Name Date
1. Draw a model. Then, write the numerical expressions.
a. The sum of 21 and 4, doubled 9\% <2l ‘b‘*D b._ 5 times the sum of 7 and 23 5 X (7'6 25>
) D e
,——A/\

o (! +LI) e

—— *:G_ * 2o
=150
c. 2 times the difference between 49.5 and 37.5

L{.OI o 37.5 QX @qas‘ 571‘5 The sumzs fifteens and4t/vij$3z'<\sp-} @X%
: ),-————/‘j : %
Tl o o) e
=N = )4 Gaz)
wlg)+ G x2
5 Qé(ﬁg‘s 6 = é4/5 - Sk
= i Y -
e fhe difference between 9 thirty-sevens

it . v‘and f.  Triple the sum of 45 and 55 3;( (46 'f%
h,ﬁ% Gx37) -(% xgﬁ% ,—___\H,i___i_;é_ e )
" e
= e ey \—;’;—K—:‘V
epesy TR
3 b @30 | 30 oo
27%(q-8) =D
1) op =300, | F00

¢« € ¢

P
EUREKA | Lesson 3: Write and interpret numerical expressions and compare expressions

| using a visual model.
MATH 14



A STORY OF UNITS Lesson 3 Homework m

2. Write the numerical expressions in words. Then, solve.
Expression Words The Value of the
Expression
a. 10x(2.5+13.5) TCVI —’L/,MC’S 7%16 Sem o f. 7LW(;
= lox 16 cond Trve Tfens and thirfeenw l(@ O
=i Wb avd £ive Teng
_|b ©8-78x11  [Eleyen fimes The differemce
= Pe il ok pinety-eiaht am&%vm%y‘ St
= e\ a ‘ V!
220 €V
(71+29) x 26 1 e’V\+Y six TwweS the
= oo X2C cunt of se\./evﬁ“y -one c{'-éd,- Q ) GO’O
= 24,00 toerdy-nime
c.” (50x2)+(15x%2) H% Sumy of 'Pi%ty e s
T loo + 3o two omd fidteen Times two 12O
= 32
= 3. Compare the two expressions using >, <, or =. In the space beneath each pair of expressions, explain
how you can compare without calculating. Draw a model if it helps you.
a. 93x(40+2) @ (40 +2) x 39
b:" 61 x25 @ 60 twenty-fives minus 1 twenty-five
Goxds — Bbhg
Gk 5
l EUREKA Lesson 3: \l:\;:':‘t: :c;is‘ijr;tler:‘[;rj;r\umerical expressions and compare expressi\:ms

MATH



- Lesson 3 Homework | -1~/

Larry claims that (14 + 12) x (8 + 12) and (14 x 12) + (8 x 12) are equivalent because they have the same
digits and the same operations.

a. lslarrycorrect? Explain your thinking. »
Lavr\j g wieng (2 = Z¢  and 34 12 = Z&
Je TR Teearalo e A which s
8% dnd Stimes 12 which | k2. b, 1D
only 264 .
These numbers may haye The sam
dagils bw?" The apefaftoﬁs Ghe
5{(7%6?"@%’{'

b.  Which expression is greater? How much greater?

(/L/‘/L/Z)X (fg)"’ !2) S ﬁrf&iﬁf jhg:g,%
{'Zié':afiz) ~ (?:mz)jgy 256, .

~ 26
Lesson 3: Write and interpret numerical expressions and compare expressions
EUR!KA using a visual model. =

16



A STORY OF UNITS Lesson 4 Problem Set

Name Date

1. Circle each expression that is not equivalent to the expression in bold.
a. 16x29

29 sixteens 16 % (30— 1) ((15-1)x29> 10x29)- (6 ;35:))

JENESE————

b. 38x45
‘( (38 +40) x (38 + 5) ) (38 x 40) + (38 x 5) \45 x (40 +@ fhiiiihts
c. 74x59
74 % (50 +9) 74 % (60-1) / (74 x5) + (74 xfy 59 seventy-fours

2. Solve using mental math. Draw a tape diagram and fill in the blanks to show your thinking. The first one
is partially done for you.

a. 19x25= / 2 twenty-fives h. 24%x11= / j twenty-fours

e 1
25 25 25 25 l { i {
P ] e W o . 1
g = 19 20 it
Think: 20 twenty-fives — 1 twenty-five. Think: _{ % twenty fours + / twenty four
(O o comm s f8 xoisias £ gon
L Gp0 - g . FY
e Wl - /
o 5 - Y
| Lessona: Convert numerical expressions into unit form as a mental strategy for
Eu REKA ; multi-digit multiplication. s

ATH

17



A STORY OF UNITS

Lesson 4 Problem Set |

€ 79%x14= 76f fourteens
T)’C'/-—/!L///#//'I‘)' /L 7
e -4 S T
g o
Think: }"j - fourteens — 1 fourteen
= ( 8(9 x 14) —( f x 14)

= LEE - 1Y
- O

ds 21x75= pz/ seventy-fives

ol 5[

Think: J”cseventy-fives+ [ seventy-five

= ,,_L’{gg x 75) + ( / x 75)

= st 79
LI5S

Define the unit in word form and complete the sequence of problems as was done in the lesson.

a 19x15=19_fHe 2N S

Think: 20 Q‘!i%{"i’w S-1 Piﬁ@c?m
=pox 19" y-ax 15
. G5
__ 285

b. 14x15=14 £\‘:“§€M_S

o i U v "‘_’—‘]T“ i
|G oy

Think: 10 ﬁﬁquw j}’?f eens

=(10x__15 )+ (4% \6 )
L e o
: A1O

Lesson 4:

EUREKA
MATH

multi-digit multiplication.

Convert numerical expressions into unit form as a mental strategy for

18



EUREKA
MATH

A STORY OF UNITS Lesson 4 Problem Set |

c. 25x12=12 J(udaml}/ fives d. 18x17=18_ Sevemnteens
el [ Mh\“‘}%ﬂ
e - S e Il
Think: 10 Ty~ Vﬁ%u}eﬁy Kwes | Think: 20 sevetet?™s _coveuteens
T mwaose Th o oot Tyt T g
29 . 50 _2ge T
-_200 = Bol

)
3 P X
. How can 14 x 50 help you find 14 x 49? (4 x49 is Yy less —tm‘m l‘f SE)—J

e oSt (8 [ C0, thew
/7
‘ 86,
. Solve mentally. U«&Xﬂol ‘S 8
a. 101x15=_ 1515 e ‘732
1900415 \$eo - \$

. Saleem says 45 x 32 is the same as (45 x 3) + (45 x 2). Explain Saleem’s error using words, numbers,

and/or pictures.

' Y X322, would m
wo %32 £ (4% x3) + (46%2). :
(46 x30) + (45 X2, nsl 45 X2 as Saleem s2yS

e 3 is el onss, bl Cens.

. Juan delivers 174 newspapers every day. Edward delivers 126 more newspapers each day than Juan.

a. Write an expression to show how many newspapers Edward will deliver in 29 days.

(174 +#/2¢ )X 29

b. Use mental math to solve. Showyourthlnklng \

7 X //’1 > X

,Ku;(/ 20) ~(200%/)
Goai— 362 = b 7o

Lesson 4: Convert numerical expressions into unit form as a mental strategy for
multi-digit multiplication.

19



A STORY OF UNITS Lesson 4 Homework

Name Date

1. Circle each expression that is not equivalent to the expression in bold.

a. 37x19
37 nineteens }(30 x19)—(7 x 29)%; 37x(20-1) \ (40-2)x 19
: Ake - e
b. 26x35
35 twenty-sixes { (26 +30) x (26 +5) i (26 x 30) + (26 x 5) 2 35x (20 + 60)’
g R ! AT
c. 34x89
34 x(80+9) ] (34x8) +(34x9) 1 34 x(90-1) 89 thirty-fours

2. Solve using mental math. Draw a tape diagram and fill in the blanks to show your thinking. The first one
is partially done for you.

a. 19x50= fifties b. 11x26= 5] twenty-sixes
50 50 50 50
1 2 3 19 20
Think: 20 fifties — 1 fifty Think: /O twenty-sixes + __/ _ twenty-sixes
A
A o T e ) e ) x28)
~
. 950 . AT
Lesson 4: Convert ical expressions into unit f tal strategy fo
EUREKA | multidigit mtipication ot 99 :

MATH ‘
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A STORY OF UNITS

Lesson 4 Homework m

7
c 295519 L} / twelves

e e G ST 5Tema  T

{ I;z (xzf a?.{ > < . iwﬁ}ﬁ

i b e e ape— o

e
5%

Think: ,@ twelves — 1 twelve
i D0 e ;e 12)
L O -_ /2.—

- 5388

i

l2slesfes] .. .

lo

T e
= :;E. -"é) + go
s

dis 12 x125= /' A twenty-fives

\“/W%

Think: \O twenty-fives + Q

9\ x 25)

ZsU

twenty-fives

. Define the unit in word form and complete the sequence of problems as was done in the lesson.

a 20x12=29_ 7w/ 5/0/65

|t L[tzhz 2o fel EZM

e et

o

Think: 30 ﬁu_g' /VF S ZE‘A /e [26'«
—iaon A )(1>< /A )

3@—,?

b. 11x31=31_e levenS

nl i eo. (I

mmoi

= (30 x ‘\ )+ (1x

Think: 30 eleverc +1 elevens

!

()

= §)K2 + “

D4 5 o
Lesson 4: Convert numerical expressions into unit form as a mental strategy for
EUREKA multi-digit multiplication. B

MATH

21



A STORY OF UNITS Lesson 4 Homework m

WDl TR | (g Tselkel - BB
—_—\— R S e e e
- 3

= \'6

¢ 19x11=19_¢ leven§ d. 50x13=13 f(:{ l)‘C&S

Think: 20_¢levens-1_el pyen Think: 1o£;\£h‘es ales
< IR e A e e G {10x S0 shuipin- i
=S80 = /[ S + /50
-_209 50

4. How can 12 x 50 help you find 12 x 49?

x50 is [2mere thow Bx99- So i T
[>Xx50 1S (0O 5 then 1299 hat % e S3E.

5. Solve mentally. Vi
o 16k OB T b. 20x101=_RA RO
¢ Xtoo = oo 26> los = zeoo
loeo g = 155 4 Zeoe 120 = 2020
6. Joy is helping her father to build a rectangular deck that measures 14 ft by 19 ft. Find the area of the deck

using a mental strategy. Explain your thinking. :
yxiq = = (yx2e) (14X /)
= g = i
= 266

7. The Lason School turns 101 years old in June. In order to celebrate, they ask each of the 23 classes to
collect 101 items and make a collage. How many total items will be in the collage? Use mental math to
solve. Explain your thinking. :

23 Xlo] = {:23?( !i)())"’* {25 ‘x'»"/
— ‘Q}ggo R

QAT

Lesson 4: Convert numerical expressions into unit form as a mental stratégy for
multi-digit multiplication.

EUREKA
MATH



A STORY OF UNITS Lesson 5 Problem Set

Name . Date

1. Draw an area model, and then solve using the standard algorithm. Use arrows to match the partial
products from the area model to the partial products of the algorithm.

a. 34x21=
sa £ H :
- AT
e 3

N
b. 434%21=

oo+ 307t ¥ 43
| | oo | G "‘45% 2

2
2. Solve using the standard algorithm.
a. 431x12= b. 123x23= ¢ - 312%32=
43 ) (a5 A&
3 -
¥ L 2 >
X 1 2 > 22

LT 269 &d
43‘7 Afe g3 6

e
57/%? g)g s 3,9 G o

Lesson 5: Connect visual models and the distributive property to partial
products of the standard algorithm without renaming.

EUREKA
MATH
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A STORY OF UNITS ‘ Lesson 5 Problem Set m

3. Betty saves $161 a month. She saves $141 less each month than Jack. How much will Jack save in 2
years?

Bily's Saving s
HY 34 16] a penth -

JQGK“S San i”‘ﬂ)
4 16\ + S
:$5OQ

Time Zycat'S
=2d months T will save & 1,248

4. Farmer Brown feeds 12.1 kilograms of alfalfa to each of his 2 horses daily. How many kilograms of alfalfa
will all his horses have eaten after 21 days? Draw an area model to solve.

2-\Kq cack o
horse M,

Hovsed

2

2UeA
X |
—5q2
o e
5,037

P@P

Towmer Brown's horses ale 5082 K@s

Lesson 5: Connect visual models and the distributive property to partial
EU“KA products of the standard algorithm without renaming.

24



A STORY OF UNITS

Lesson 5 Homework m

Name

Date

1. Draw an area model, and then solve using the standard algorithm. Use arrows to match the partial
products from the area model to the partial products in the algorithm.

a. 24x21=

24
2 XL
o =
o L7l A -
& o4
b. 242x21=

2
2. Solve using the standard algorithm.
a. 314x22= b. 413x22= c. 213x32=
2
314 4 o —
1 X 3 A e

3% ,
L33 |

A

Lesson 5:

Connect visual models and the distributive property to partial
products of the standard algorithm without renaming.

EUREKA
MATH



A STORY OF UNITS Lesson 5 Homework m

3. Avyoung snake measures 0.23 meters long. During the course of his lifetime, he will grow to be 13 times
his current length. What will his length be when he is full grown?

Swed ‘Cws O,A3
lengt X5

2 23

T(@ snabre's [emjﬂn wil be 2.9 m

4. Zenin earns $142 per shift at his new job. During a pay period, he works 12 shifts. What would his pay be
for that period?

< 142

gl X3

& 42 pr shift %€ =
ii_f 52

shifts

Ny mloes ok "’jf;»?’(;q =
e =

Leni 's pey woul el be (S} })-70(/ ,

Lesson 5: Connect visual models and the distributive property to partial
products of the standard algorithm without renaming.

EUREKA
MATH
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A STORY OF UNITS : Lesson 6 Problem Set 5'2

Name Date

1. Draw an area model. Then, solve using the standard algorithm. Use arrows to match the partial products
from your area model to the partial products in the algorithm.

>3
a. 48x35 Y
48
6 X35
; e
o 1Y
e
b. 648x35 s
LO00 % %0 f‘g %Y
g 5’240 x 35
+ Eeis, Q] o5
[ 200 }QO 19, 44t 32‘{
30 2 a4 "f
22)(0 T 2

2. Solve usingthestandargalgo’rithm. ,2 ;
a. 758x92 “;5% b. 958 x 94 q%g
X A2 e
g | & 7
6822 5
LI F 2853, g oos5 2

Lesson 6: Connect area models and the distributive property to partial products
of the standard algorithm with renaming.

EUREKA
MATH
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A STORY OF UNITS Lesson 6 Problem Set |
73 =

3 1
B‘/Zé 24 7
o A L d. 54764 x4
2250 Eyr e
2. e
OGO 35008

3. Carpet costs $16 a square foot. A rectangular floor is 16 feet long by 14 feet wide. How much would it
cost to carpet the floor?

| 2.
Cojt : 279-
By | A

e ELE, L
Aveer 224 224
_‘lla>< Y ~ -*575""2?"
g 'ft I—} Wuu!ﬂ, CQd

4. General admission to The American Museum ofﬁétu( Hlstory is $19
a. Ifagroup of 125 students visits the museum, how much will the group’s tickets cost?

Admissian s
s 2o

s 81 TT A &
I35 i

ﬂu‘uﬁeﬂ will cesfga, 376 ~ A5 7 5

If the group also purchases IMA mowe tickets for an additional $4 per student, what is the new total
cost of all the tickets? Write an expression that shows how you calculated the new price.

wm o] 70;4,5}2 /25
Sl
4 L,l per shdent ”’;2798—7—3— 500

Student s _ -
125

e

S s
944 X 125 = 2,875 535
} Lesson 6: Connect area models and the distributive property to partial products 6 O
EUREKA | of the standard algorithm with renaming. &

MATH ; Q@'“g‘



A STORY OF UNITS v : Lesson 6 Homework m

Name i Date
{
1. Draw an area model. Then, solve using the standard algorithm. Use arrows to match the partial products
from your area model to the partial products in the algorithm.

Qi -27.-%.36 e LZ/—
40 = o 37
1 (62 xzs
%
ﬁ Zio \9/0 3 -
i i
b. 527x36 ‘ . fodr
5

c. 758x46 75 & d. 529x48 ¥45

Lesson 6: Connect area models and the distributive property to partial products

EUREKA of the standard algorithm with renaming.
MATH 29




ASTORY OF UNITS

Lesson 6 Homework m

3. Each of the 25 students in Mr. McDonald’s class sold 16 raffle tickets. If each ticket costs $15, how much
money did Mr. McDonald’s students raise?

Students -
gvsm 29 XMe X 1o il k%‘.é_
Tickets ISR = Il

85 o
- o622 SBT3
‘h& ﬁf '

419 :
Me. M Dsneld's reise 46,000

4. Jayson buys a car and pays by installments. Each installment is $567 per month. After 48 months, Jayson
owes $1,250. What was the total price of the vehicle?

Fustallment x4g)Yy 1250
4 561 (6@7 / >

shll ows ‘
: ,)3_50 —s A

=
4.
)
A é}“““ 2208

The Totat price Was 423 46k

Lesson 6: Connect area mo dels and the distributive property to partial products
EUREKA of the standard algorithm with renaming.



A'STORY OF UNITS , ' ~ Lesson 7 Problem Set m

Name Date

1. Draw an area model. Then, solve using the standard algorithm. Use arrows to match the partial products
from the area model to the partial products in the algorithm.

a. 481x352

b. 481 x302

21 98>

Jeg | Iaopec |20 42

| e

c.  Why are there three partial products in 1(a) and only two partial products in 1(b)?

Tn Ab) The Oin the Tens place

" eliminales one }Oa/fm// }Dif”od{,{éf p /l//u/f/’/’f}! ,};»5;
/03 Zerv 95:165 /;7:"2:’@’{&65{5 s zers, SO Heere

X

'S pe ﬁéﬂ’bf n /Ia»mﬂ a pmf;'a/ p!’bda&f G?QZ&YO.

Lesson 7: Connect area models and the distributive property to partial products

EUREKA of the standard algorithm with renaming.
MATH 31
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-~
2. Solve by drawing the area model and using the standard algorithm.
a. 8,401 x 305 7
z
5,000 400 MM_W,_ 8,401
4o eoo | 2000 42,005 x- 505
% 4 42605
e s 1 ,5 foae 252857
7
Bl
37 ) Y50 7,481
4 X350
244300 3F Y65
R T
2278350
% & % S
/

3. Solve using the standard algorithm.

Y

a. 346x27 2 e; / b. 1,346 x 297 7 g

2;? _ X2

924 Yiti
¢9 2 9 2

171.

__________________

95

Lesson 7: Connect area models and the distributive property to partial products
of the standard algorithm with renaming.

EUREKA
MATH
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Lesson 7 Problem Set m

/ 2 34
39 296
c. 346x207 396 d. 1,346 x207 4 x Reol
”777'32’75:

e o
/29 22 gy

—wp ENEEX

4. Aschool district purchased 615 new laptops for their mobile labs. Each computer cost $409. What is the

total cost for all of the laptops? =

/ >
! e Aolal cas”
£ ok ‘kh:/;*\; o

8909 oo
,635

25

5. A publisher prints 1,512 copies of a book in each prmt run. If they print 305 runs, how many books will be

Z;tgs 6+ bool~ \9)2
v X 209 There wlu be

\,91% _,_._——-——————-
runsS q.ég‘z(” W6, beo books

S

20 g el

6. As of the 2010 census, there were ?;,669 people living in Marlboro, New York. Brooklyn, New York, has
681 times as many people. How many more people live in Brooklyn than in Marlboro? ‘/ _\?
people i1 Moo 2 s fii S i
2,669 " :_-—-———3—-’—-—---- <3|

' A Sl g &

‘,@?& " %&@kﬁh 5 o 24 %5 =

21609 X 68 |=21998, 584 =

There are 2,494,920 wmore
| Lesson7: mgt(;‘?q ?nltgam! & dlsﬁ {pp Ky g m products

EUREK_A l of the standard algorithm with renaming.
MATH
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A STORY OF UNITS Lesson 7 Homework m

Name : Date

1. Draw an area model. Then, solve using the standard algorithm. Use arrows to match the partial products
from your area model to the partial products in your algorithm.

t.
o4
a. 273 x346 2-7/3
Tve o & x 346
e 9¢3%
A /07%
- 517

360 \&,(ga)o é—((a;)w ﬁ po 7l qe0 7 Lf q S
; f o

c. Both Parts (a) and (b) have three-digit multipliers. Why are there three partial products in Part (a)
and only two partial products in Part (b)?

The 7bd/f'f (b) is 3cc. The Tene /(7/0?&:’_ 21
ZEVO . 50, /t 0/!/7 éa‘g' Fuo Iwn//ﬂ //melaéff

EURE Lesson 7: Connect area models and the distributive property to partial products

.. of the standard algorithm with renaming.
MATH
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A STORY OF UNITS = , Lesson 7 Homework m

#
~ 2. Solve by drawing the area model and using the standard algorithm

e 7
e 2 . ) /
a. 7,481x290 E 7/ ;/g O
7,000 i} 00 B . e S
F AT
2200 A0 1473,730 f; 7

%0 ,000 | b 62\ 20& ‘qual‘),% me A g

87747

| 7
2,018
ol 1 2
C o362 ‘ZO 2 Q -
: &
l[’-wﬁ;(ﬂ()o / #Wq %MAM

o // .Z/
3 zolvzzussu:i ;l;e standard algonthm s /?/» 4/0?é
jb x 257
x357 3 9 8 A
2982 a0
2130 S el sf Sl 6

§ e il —— 59 b2
y59082 -

Lesson 7: Connect area models and the distributive property to partial products
of the standard algorithm with renaming.

EUREKA
MATH




A STORY OF UNITS Lesson 7 Homework m

/ / £
X ‘ % 17
c. 426 x307 ?ZZ G d. 1,426 x 307 // ¢2 é
%307 367
e

B, CEEE:

B ha I e e T
ElT 4y eain T8

4. The Hudson Valley Renegades Stadium holds a maximum of 4,505 people. During the height of their
popularity, they sold out 219 on%ecutive games. How many tickets were sold during this time?
o

, N o~
@gmes B : % ‘ﬁfﬁm
A9 55 0;’
/

7‘/1& 50{6/ ‘?56;5 95 _ﬁﬁ O,«M__ﬁ,_g._._
7 “?‘scl“:iiﬁ &] § @/6%5

5. One Saturday at the farmer’s market, each of the 94 vendors made $502 in profit. How much profit did
all vendors make that Saturday?

Vé%ﬁ‘i& ¥5 552
94 a8
v /é@ ) g
PN{"(J( ’ 45 | &

g 0% cach W

All veodus made 347,158 i profil]

EUREKA Lesson 7: Connect area models and the distributive property to partial products

% of the standard algorithm with renaming.
MATH
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A STORY OF UNITS

Name

Lesson 8 Problem Set

Date

502

1. Estimate the product first. Solve by using the standard algorithm. Use your estimate to check the
reasonableness of the product.

a. 213 x328 b. 662 x372 c. 739x442
st Z;S =766 X 400 Joo X HCO =
= 60,000 = 280 ,000 = 280,000 ﬁ
2 f)f"..,/} /
213 T 5 4 +L e 2 1
BEL W o e
(99}3 o 3&32 e é %ggé
2A562¢ 4 226039
d. 807 x 491 e. 3,502 656 f. 4,390 x 741
= Q60 X500 =+},000 X706 +4,000 %700
= 400,00 (7 —'2800000 -_:2,800)900
l
ks 3,502 {390
e o im s S 141
3437 = 2 g4 390
e l
392% 7510 e
39237 |[Si e 2 2lls
/ Sl &l 2 A LA
g 530x2,075 h. 4,004 x 603 i, 987x3,105
500 X 2000 =000 1p0o X 3,000
OO0 : B -
‘}i;a 7 5 '2’ T+ 2‘-}0@000 57@(}/&)@ ,ﬂ
2,679 - a5
' 3 4,00 ‘f Il
m’?WWQ (ao 2 4 S+
e ‘oo 4 ,;’L\':g;s_'%
|0576 dyo=2 ,9\464@
oUB A 50 | | & [ g e e
g & W R A
EUREKA - MR OO et A e A oA
M ATHv- of the product.
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A STORY OF UNITS Lesson 8 Problem Set |

2. Each container holds 1 L 275 mL of water. How much water is in 609 identical containers? Find thefr 2
difference between your estimated product and precise product. ) £ oA

ConfCainer holds LAITZ 1.5 /-3 JopTs

X (e6© 7 Xeo9 et
1.a75 L Lo Reoo == 2y el

conlaimers . 9%c.6006 AT PO
L0 3 s g i@y FI @ T

Co3- e 2.5

3. Aclub had some money to purchase new chairs. After buying 355 chanrs at 5}99 each, there was $1 068

L’:;mammg How much money did ti;_egclub have atﬁrsyt'a_ )( g GC// 795
thail's . )

255 4 4 e
Brice G T

rcma w4 /7
|, 068 The club ad £ |, 503
4. So fjar, Carmella has collected 14 boxes of baseball cards. There are’315 cards in each box. Carmella
estimates that she has about 3,000 cards, so she buys 6 albums that hold 500 cards each.

a.  Will the albums have enough space for all of her cards? Why o;‘why not? A/‘/) / 5/’1(/
besce s & x 215 315 neei} >

{ 2 ~ lo X 200 X L‘( = mote U(i{,Aa.-l*!‘;
covds/boy - F000 2 GO

519 : 2088

b. How many cards does Carmella have? L{ (] wE

SM ‘/\-OS L}l é"gék‘\_:} CfGEQg“5

¢. How many albums will she need for all of her baseball cards?

6\/\2/ Lu[(/( heed Q4 0«”0\/(\/;/15

1 Lesson 8: Fluently multiply multi-digit whole numbers using the standard

EUREKA algorithm and using estimation to check for the reasonableness
MATH‘- of the product.
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ASTORY OF UNITS . : . Lesson 8 Homework |

Name Date

1. Estimate the product first. Solve by using the standard algorithm. Use your estimate to check the
reasonableness of the product.

a. 312x149 b. 743x295 L |o amxew /%
~ 300 x 100 fx lpexJoe '25 ' ST e 2
;30,000 = 2(0,000 743 = 140,000 é‘%?
£ - *XA9G _;‘_ig’_g_-
312 T 50?} &
x 149 2715 ! Yy
1g0% , 16591 | AT
1248 | B 2546 aan
Sk s 214189 ATAL3 6
4of88
d. 691x305 [ 4208606 f. 3,068 x 523
~|700 X300 3‘ < Ugoo X0 43,000 <560 a
~ 216 ,000 69| RAdoopte 4\6o0000° 2
E %3065 DY & s \poss 2,063
T : ¥ 625
2455 e = = e
e 25 24% e
210195 25216 +‘5/(50Lf(9
" 25500¢% 6
A [C0 56y
g 430x3,064 h. 3,007 x 502 i, 254%6,104
Eqoox3e0> £ 3,00 xSoe 3606 X 6,000
Siseseec . EGRRCS \%00,000
e S e @ (0F
x'h30 e Eoie Ly 254 |
Cu S GolY 2¢ 416
| 2EE L 15025 5 07 2e
5is4aq godeif| 1aieh
J -t | l, =
EUREKA | ::Ezﬁmgﬂpfli?g”:si't?ﬁm:?fclﬂgf%iﬁl?ﬁ:ﬁﬁ?::éi
MA H'- of the product.



A STORY OF UNITS

Lesson 8 Homework m

2. When multiplying 1,729 times 308, Clayton got a product of 53,253. Without calculating, does his
product seem reasonable? Explain your thinking.

/,729= 3,000 2,000X300
e bt~ D00 ;:(90(3600

The product must have 6 digits.

1./
Jo ’ 0{‘77{5#}'5 Proc&e&f (s mt fﬂé&aﬂ%ﬂa
because it hes only 5 dagels

3. Apublisher prints 1,912 copies of a book in each print run. If they print 305 runs, the manager wants to
know about how many books will be printed. What is a reasonable estimate?

Lopies B PR 2,00° 2,000 % 500
l’g‘)”;)- /309 ~, 600 X (OOOJOO‘Q
Yuns

5 %[;;Jzz |, qoo /900X 3%

jo5 x 3oo ADTOPOC

Lesson 8: Fluently multiply multi-digit whole numbers using the standard
EUREKA algorithm and using estimation to check for the reasonableness
M ATH- of the product.



A STORY OF UNITS Lesson 9 Problem Set

Name » Date

Solve.

1. An office space in New York City measures 48 feet by 56 feet. If it sells for $565 per square foot, what is
the total cost of the office space? 9‘% ; ,? o2

2,5t
e 3 P T GLS_
(/j 485t Ty B TEY 40

$9D per square oo 2,6% 8 | 3440
The fotal cest 15 $ \675‘8)720‘ 1B 851 20
2. Gemma and Leah are both jewelry makers. Gemma made 106 beaded necklaces. Leah made 39 more

necklaces than Gemma.
a. Each necklace they make has exactly 104 beads on it. How many beads did both girls use altogether

while making their necklaces? ‘0 o . ’32'5 ‘ @ ? .
@\ewxa 16¢ viecKlacey ,\/qé_‘ X o U —
Lealv V42 necKlaces 25\ Teon el

{ lecisa) N2l \ oY
- 26\ 04
e airle wse 26,194 beads v (

b. Atd recent craft fair, Gemma sold each of her necklaces for $14. Leah sold each of her necklaces for |2
10 dollars more. Who made more money at the craft fair? How much more? Wy (=3
o et O e 2B T ] w20

i T SRR e vl v
D —— o

Jol e 1§e 24 ©

GAC L4 8 34 ec
lealt made ere, 41,996 moce « L3 5 IH @ o

3. Pengbought 26 treadmills for her new fitness center at $1,334 each. Then, she bought 19 stationary

bikes for $749 each. How much did she spend on her new equipment? Write an expression, and then L= 8
solve. ; ¢ l/Béq 7q0’
Jweackv“"{ (Q(p =\ 55q)+ (\°' ><7Ll~'/l) X Ze xlﬁ
2¢ at-$ 33 eachh 2y, (ogu( ) QCZO”‘ 3\
A b *{
| 1422
bikeS W z4, 34,09 3 723

9 $74% each
%vg 5(90,& 418,915

Lesson 9: Fluently multiply multi-digit whole numbers using the standard
EUREKA algorithm to solve multi-step word problems.

MATH a1




A STORY OF UNITS ; Lesson 9 Problem Set m

4. AHudson Valley farmer has 26 employees. He pays each employee $410 per week. After paying his
workers for one week, the farmer has $162 left in his bank account. How much money did he have at

e (TS PPN T S G2 M N Y

for «¥
2 70 e

24
calany weelS s SV SRR O
¢ 4l E’—:j v ToEe0

et w account
& |62 Thoe farmer hod $lo,822 .

5. Frances is sewing a border around 2 rectangular tablecloths that each measure 9 feet long by 6 feet wide.
If it takes her 3 minutes to sew on 1 inch of border, how many minutes will it take her to complete her
sewing project? Write an expression, and then solve.

gﬂi 9&(@‘\"@1)%2 = é\x \5)%& gt 5 o0 e )
Lo *3 =180
J/:,J

Frances tla bies 180 pi hites
6. Each grade level at Hooperville Schools has 298 students.
a. Ifthere are 13 grade levels, how many students attend Hooperville Schools?

= -
sfudents 298|298 | 20181, -~ 298

A9E 13
gra&e& s g9y
13 — 275

2.834 sTudents atferd WS- 31X

b. A nearby district, Willington, is much larger. They have 12 times as many students. How many
students attend schools in Willington?

_ J===]
/_ /
Spd Lol 314l 2879

E R

Y, HsK 5%010(@1/7%5 aﬁg nd scheols in Wil ﬂj 7‘04
EU“KA Lesson 9: Fluently multiply multi-digit whole numbers using the standard

algorithm to solve multi-step word problems.

& B
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A STORY OF UNITS Lesson 9 Homework m

Name Date

Solve.

1. lJeffery bought 203 sheets of stickers. Each sheet has a dozen stickers. He gave away 907 stickers to his
family and friends on Valentine’s Day. How many stickers does Jeffery have remaining?

sheels 53 Jezlecl205(22| " n03 43§
#o% N e -//CB”’@T
stickers s 4o b 1,54
\Z ez —
jcwc awlarf xH 3

TJek8ery hos 1,529 ekt
2. During the 2011 season, a quarterback passed for 302 yards per game. He played in all 16 regular season
games that year.

a. For how many total yards did the quarterback pass? !

Z0Z
7“2‘%@‘3 202|302 | -0 113621202 ALy
62 \C V&%
gc‘iuz:‘@) ’/ﬁé

The quarlerbacts peisxect foy U.832

b. If he matches this passmg total for each of the next 13 seasons, how many yards will he pass for in hls \

L oeen ‘ 32) 4,232|... 14,8 ¢332
4§32 yuds [psails JPE *’://L\'?‘/LEL
mwef [L—i \51 ‘77{’2%

' 334
e S B TAT
G e will pass doc 61,648yards ‘

3. Bao saved $179 a month. He saved $145 less than Ada each month. ‘How much would Ada save in three ii: 7
and a half years?

Mo {5z 130 .. \22032d], 2 324

Bao guve %_ﬁé Y42

\ 19 3174 o movit A 42 months q4a ,,¢42’

/%ﬁ#\da save S E T
~Stidaan Lido will save. 313,608 | b

Lesson 9: Fluently multiply multi-digit whole numbers using the standard
EUREKA algorithm to solve multi-step word problems.

MATH 43




A STORY OF UNITS Lesson 9 Homework

4. Mrs. Williams is knitting a blanket for her newborn granddaughter. The blanket is 2.25 meters long and
1.8 meters wide. What is the area of the blanket? Write the answer in centimeters.

2-25m 5055 Z/QOSOM - 405 (4

[ adledes s coiotun,

138°

e — * , S

[>56 The avea- 1S 465 e
)
5. Use the chart to solve. Soccer Field Dimensions
FIFA Regulation New York State High Schools
(in yards) (in yards)

Minimum Length 110 100

Maximum Length 120 120

Minimum Width 70 55

Maximum Width 80 80

a.

Write an expression to find the difference in the maximum area and minimum area of a NYS high

school soccer field. Then, evaluate your expression.
120 % 36) = (100 %S5 )
A OO — 500 =
LMoo

b. Would a field with a width of 75 yards and an area of 7,500 square yards be within FIFA regulation?
Why or why not?

1500= 15 = }@/o '
This feld is nel within FIFA res 3
The /Mﬁhi of the fleld ic shorT by |6 yards .

c. It costs $26 to fertilize, water, mow, and maintain each square yard of a full size FIFA field (with
maximum dimensions) before each game. How much will it cost to prepare the field for next week’s

/i

match? 30{ b

e %80:—; % /(02@

q 606 §X €3 600
\a22 00

1t will cost §244, 400, S qaeos

EUREKA Lesson 9: Fluently multiply multi-digit whole numbers using the standard

algorithm to solve multi-step word problems.
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A STORY OF UNITS

Lesson 10 Problem Set m

- Name

Date

1. Estimate the product. Solve using an area model and the standard algorithm. Remember to express your
products in standard form.

7° Z,a

a. 22x24= ﬂo x ﬂ £ %O 24

2¢fierdts)
(tenths) x22 w2z
20 + o (tenths) = ';i}# \ "‘/1?{’
s X 22
e : : g
e \ : _’548 ket /’/“ l 45

A
* \ P
20 \ Loo \ EQ\ Yyeo e nths

e S x A O

3l
: 2 (tenths) x33
[ : ~
30 + | Cths) Y[ | 21 o)
R i ==
Fe—— o et | ™ 1 3|
26| oo {2 dal e lE g .
— o 27| o> Qe
o T TG
2

. Estimate. Then, use the standard algorithm to solve. Express your products in standard form.

a5 xS0 B0 b, 3755ks S8 'y 0}0: T4
32 (ovils) 32

A i} ‘\ 3 2
22 (Aenvll )
x j;L (tenths) x47 ;@‘}Z ;G“ = (tenths) x94
N &rf 6P
z2H ——
i o =
—ngﬁ (temths
)
= \90.4 {
Lesson 10: Multiply decimal fractions with tenths by multi-digit whole numbers
EUREKA using place value understanding to record partial products.
MATH
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A STORY OF UNITS

c. 63x44= (O

x Ho -

240 d.

Lesson 10 Problem Set m

146x17=

1o 20 . Do

‘(0‘3 IJOG
XL‘ILL{ XQ?____“'

25 & o O e

£ 3 \ 4 6
FEEE

S EpnEis. b el f, 1604x17~ Lo x 20 = Z}QQCJ

%. 3 \cpo 4
%34 S22
e \\';zafI 3
c X I- .__‘fif.————’-
TEL . 212 6.8

3. Michelle multiplied 3.4 x 52. She incorrectly wrote 1,768 as her product. Use words, numbers, and/or
pictures to explain Michelle’s mistake.

CEEn

l‘/hc helle did

n@t PL&K({’/

the decined ft&m% ',

bhe tewt Lhs .

17@@,7& |7¢¢%

4. A wire is bent to form a square with a perimeter of 16.4 cm. How much wire would be needed to form
25 such squares? Express your answer in meters.

Crimeter
lo .Y cwu

= guUa S

A5

H.l0 wieters of wire would be peeded

Lesson 10:

EUREKA
MATH

\G«L{GW‘«

R A R A
i e

26

X35

, 8RO
32 8

| ©.0 el
= "‘(0 {0 VZ/‘/

Multiply decimal fractions with tenths by multi-digit whole numbers
using place value understanding to record partial products.
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A STORY OF UNITS Lesson 10 Homework m

Name Date

1. Estimate the product. Solve using an area model and the standard algorithm. Remember to express your
products in standard form.

i Siwiae OO R TEETT0 12 \ ‘A (remtiag)
(tenths) x53 62 .
= 5o v 9 52 '}53
02 t+ 06| |0-6 —i/z\)fi ki
\ 23 5\3 2 /; 3 6 (eehy
e /@/3—29 =L0b
b 2axEde A xS 1D 21
(tenths) x82
82 5 \
X s | x 2 | (eurths,

|1 2™ 0 aleds
= TR

2. Estimate. Then, use the standard algorithm to solve. Express your products in standard form.

a. 42x34= H 20l i [AC b. 65x58=_ |0 x f] D0

y
L) 42 Lo D 58
XY (tenths) x34 Xb&S (tenths) x65
'—-——‘L——"—’"—
/"—_-A -
X s
—-—-—’// g
Lesson 10 : Multiply decimal fractions with tenths by multi-digit whole numbers

EU“KA using place value understanding to record partial products.
MATH
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A STORY OF UNITS Lesson 10 Homework m

. 3?x16 a6 . o 4 1sexiz= b » 20 SR
e <
e 8 *‘1 A
y Y ' O
Lo A
g 265.2
e. 73x24 70 x % = “{O f. 1935x57~ lffﬂ (éo l ézﬁo
3 05):%7 5
X &4 _in«,:,__
= ET
G ¢ AGHE
\ 1 5.2 16495

3. Mr.Jansen is building an ice rink in his backyard that will measure 8.4 meters by 22 meters. What is the
area of the rink?

EEQVN A; LXU‘) 80‘7‘

e
MA\__/_\ i e
e 8

Toe arece 1S 120 Ll

4. Rachel runs 3.2 miles each weekday and 1.5 miles each day of the weekend. How many miles will she

have run in 6 weeks? 5
\ﬁ?@o\?dmég 3.2 & f% 19
,,2(._5—«—- X &
i St S LSS i
WCC&(@V‘ ) (OL weeK) !
.5 3 X;f
: = ke K
Row\nd will haae twar N milein 6 weeKs

using place value understanding to record partial products.

EUREKA
MATH



A STORY OF UNITS Lesson 11 Problem Set

Name Date

1. Estimate the product. Solve using the standard algorithm. Use the thought bubbles to show your
thinking. (Draw an area model on a separate sheet if it helps you.)

a. 1.38x32= / 3 22O: 30 1.38x32 = L/(L/‘/(a
&
%

Think! 4,416 is 100
times too large! What,
is the real product?

Think!
1.38 x 100 + 138

4,416 + 100 + 44.16

3.55x89 = 525?5

/
2. Solve using the standard algorithm. 2 ¢ 5‘/ 2
5
a. 5.04x8 b. 147.83x67 ?q 7.83

5,04 Y

3 S—— 75
To - 32 SR

Lesson 11: Multiply decimal fractions by multi-digit whole numbers through

EUREKA conversion to a whole number problem and reasoning about the
MATH,. placement of the decimal.
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ASTORYOFUNITS Lesson 11 Problem Set m

=2
5 ) e
L)
LY 432
c. 83.41x504 ﬁf_ﬂﬁ,_ d. 0.56x432 M
26 3 64 . 2 Bl
e alteo
415 e.61 2 41 a2

3. Use the whole number product and place value reasoning to place the decimal point in the second
product. Explain how you know.

a. If98x768=75264 then 98x7.68=T. ﬁ 2:.4 g

b. 1f73x1,563=114,099 then 73x15.63= /Z /L/ao 77

c. If46x1,239=56994 then 46x123.9= 5g a4 ‘/

4. Jenny buys 22 pens that cost $1.15 each and 15 markers that cost $2.05 each. How much did Jenny

spend? } c < p !
= “) « O 5 go 9%5
Tens COSt g;‘J k\é? ’\’25‘,5()
22 FHoeh B e N
Marbers CesT 330 205 <
19 42.0%adh T3 Soqg ensfonas
2 s = $ 6 (9‘ OS R
5. Aliving room measures 24 feet by 15 feet. An adjacent square dining room measures 13 feet on each ¢
side. If carpet costs $6.98 per square foot, what is the total cost of putting carpet in both rooms? 3 2l
L_J-‘ﬂ” 5 \‘ X\T X132 9 XE%,-
246t 24 _ 2 (296G
T\ \_ 360 | 6 Ealae -
Tmfoa sT 15 43,692.42 3672, ~
Lesson 11: Multiply decimal fractions by multi-digit whole numbers through
EUR!KA conversion to a whole number problem and reasoning about the

1} MATH- placement of the decimal. 50



A STORY OF UNITS Lesson 11 Homework |

0

Name Date

1. Estimate the product. Solve using the standard algorithm. Use the thought bubbles to show your
thinking. (Draw an area model on a separate sheet if it helps you.)

a. 242x12= O'Z/ X ,O = ;(O 2 ADsce] D= 27’0 Z

Think!
2.42 x 100 + 242

Think! 2,904 is 100
times too large! What
is the real product?

2,904 +100 + 29.04

[}
2. Solve using the standard algorithm. ! 2
a. 2.03x13 2,03 b. 53.16x 34 v@,{;‘{éﬁ
e £ C e
T, 22—
& =09 21 2649
o) ;
A0 B il s

26739 70 1,7%

Lesson 11: Multiply decimal fractions by multi-digit whole numbers through
EUREKA conversion to a whole number problem and reasoning about the
MATH- placement of the decimal.
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A STORY OF UNITS Lesson 11 Homework |

2 2
oy /' /‘7’ e
¢, 371.23x53 37/’23 d. 1.57x432 /657
X 52

PASCEAE X 2
INELT T

1556¢ ! 9
19E 62 T 7 4

3. Use the whole number product and place value reasoning to place the decimal point in the second
product. Explain how you know.

a. If36x134=4,824 then 36x1.34= 7 5. -2 7

b. 1f84x2,674=224,616 then 84x26.74= ‘Q/ 2‘/@ = / <’

c. 19x3211-61009 then 3211x19= @) 100+9

2
4. Aslice of pizza costs $1.57. How much will 27 slices cost? [ o 57
% 21
z Z"f
. N ’
27 stices will cest $42:39 %—é——é—q" '
= = 141.75
5. Aspool of ribbon holds 6.75 meters. A craft club buys 21 spools. - 3
a. What is the total cost if the ribbon sells for $2 per meter? Zﬁ ] S %ﬁ?@
L —erswe — T Bk ™
Lopeo kool ot S 15 ‘

- 2
2\ 5 goLS - ‘ 1350
P\‘/\Cg 5’;2 peN wreter 1S $ 3g3950 g 1,7 By

; If‘the club uses 76.54 meters to complete a project, how much ribbon will be left?
\HN.75
g

NCEP ‘
There will ke 69:21 m le$t =

| Lesson11: Multiply decimal fractions by multi-digit whole numbers through
R !K A conversion to a whole number problem and reasoning about the
L) EMUATH ! placement of the decimal.
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A STORY OF UNITS

Name

Lesson 12 Problem Set |

Date

1. Estimate. Then, solve using the standard algorithm. You may draw an area model if it helps you.

/¢
a. 121x14= / x / =

/4

1.2 %

b, 245x308= A x 00

- OO

x 14

y 8{‘*

[ &
A4
i
2.45

2. Estimate. Then, solve using the standard algorithm.

helps you.
5 dmntns 1 e FRE=I0k
13
A
xi L e
13 o
/ 4.7
& 023x18s Do 1O . A
/
OJeZ A
P Vs B e
y ] S
R S
o=
EUREK“‘A ! esson o
MATH

X532 055

[2 B
7247.25

Use a separate sheet to draw the area model if it

76 - 3é

b:=1:3% 26 = / X

——————————

ot

Reason about the product of a whole number and a decimal with
hundredths using place value understanding and estimation.
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Lesson 12 Problem Set |

A STORY OF UNITS
e ! Tk Dt il 0 f. 632x223=__ b x_00-_ (2o
7,06 b2
S 49 LT
ly {2 j26 Y
e e | 26 & —
/97,6 % F40 9,26
g 6% 2me T x| 200 - [Y00 h. 15146x555= /50 x 602 = G006
=
- 157 4¢
e x 555
~ZFeq ¥ 2 Fo LS8
R = e e
__,_4—'—;———"*3_7‘ g 5 ’) 3_,__9—«.

3. Denise walks on the beach every afternoon. In the month of July, she walked 3.45 miles each day. How

far did Denise walk during the month of July? /
2 q’ |
45 X : 3.
3.45 X 3| 25
e SR T
34
entse walks _ jozz
166.71 miles inJely TTos.7
4. Agallon of gas costs $4.34. Greg puts 12 gallons of gas in his car. He has a 50-dollar bill. Tell how much
money Greg will have left, or how much more money he will need. Show all your calculations.

2 %X $4.3Y Y34 52.08
A t
( i "6%’ D - F:j: o° G ¢ ;‘,

4‘.‘{! (23S

Crreqy needs 42.08 mae.
5. Seth drinks a glass of orange juice every day that contains 0.6 grams of Vitamin.C. He eats a serving of

strawberries for snack after school every day that contains 0.35 grams of Vitamin C. How many grams of
Vitamin C does Seth consume in 3 weeks? ) LC’ ' Z Q
/ 2\ 0«2= =
{ s ’ >
O (3 (o%)( 2 \kd’a/b ) %:®~ < \(_:,) e~ ”_‘_é_‘;‘__z_i_
0.359¢ | S@ays) s £ 1 e - =
22—

SANE 1) =]
Seth consumps |75 Gpram
Reason abou;c the product of a whole number and a decimal with
EUREKA

Lesson 12:
hundredths using place value understanding and estimation.
' MATH
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Lesson 12 Homework

A STORY OF UNITS
Name Date
1. Estimate. Then, solve using the standard algorithm. You may draw an area model if it helps you.
{
¥
a Ux28l= PO Bx ot = Lf{) 237
Xl
AL
thlogl o
e "
554 T
b BT - D DEU L GO0
=
5.42
x3 05
Z¢ { O
; \eR6.
165 a.d°
2. Estimate. Then, solve using the standard algorithm. Use a separate sheet to draw the area model if it
helps you. ;
& Iiadien i) Bl 5 B b Adxdls. o GO 7€
|2 2 B e
e T e e
|33 o o
a4 6 128 .-
FRCA B .
c 032x41= 03 x 4O - .2 i osaxez=+ D < €© . 3
3 2
o2 : ©.59
,’:fLL/;” S e ﬁ/ﬂ-«'—';‘
;2 — 1L 65
e i bs 2
\ O. % :‘)f{ g
Lesson 12: Reason about the product of a whole number and a decimal with
hundredths using place value understanding and estimation.

EUREKA
MATH
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EUREKA
MATH

A STORY OF UNITS . Lesson 12 Homework m

o GooxEs. & x Jo . |86 f. 683683 7 x 706 - 4906
¢ 9 243
e~ = s B
—re ~ 2044
21 9 = ?;L; x;,;“
e 245
Al FCe 5T
g. s.gﬂ?xzos: b x 200 - 1200 h. 17176 x555= 1 ]© x oo -|lo2y© 0=
209 ;7/3‘ ;5,
S X 555
i 5
(18T 4 . > s
j , 358
(21T 65380
| 26 ed A §598°

-—————“*/
95,22 68°

3. Eric’s goal is to walk 2.75 miles to and from the park every day for an5entire year. If he meets his goal,

how many miles will Eric walk? L/ '}) 12
269 o
215 (@ * 3¢9) R A x7¥0

e = Em RO
192 9

: 1 J” e
Eric will wol 2,007-%0 wilps ;&7007.50

. Art galleries often price paintings by the square inch. If a painting measures 22.5 inches by 34 inches and

costs $4.15 per square inch, what is the selling price f(’)r the painting? 5?' 2%
22.% ¥ 34 x $419 22.5 e o
X3y Ko =
i b A o6 JESY
he seliva pricl y
Ts 53\3“(:45 M,_ 3066
\ ﬁ’ j) 76 5 .0 3}\1 q;(5

5. Gerry spends $1.25 each day on lunch at school. On Fridays, she buys an extra shack for $0.55. How

much money will she spend in two weeks?

0.25}10)-}(0;5’5}2) +»,2°60
12:80 + ) O SE s
|2 -0

‘ 5 ']
brexry wel cgfev*du $12.c0
Lesson 12 Reason about the product of a whole number and a decimal with
hundredths using place value understanding and estimation.

56



ASTORY OF UNITS

Name

Lesson 13 Problem Set

Date

1. Solve. The first one is done for you.

a. Convert weeks to days.

8 weeks = 8 x (1 week)

=8 x (7 days)

=56 days

b. Convert years to days.

4 years = L,' x ( l
x{ Kl

year)

1l
£

days)

I
N
V)
g
K

c. Convert meters to centimeters.

92m= C] 2 x ( / m)
= 7 A x(__ 10O cm)
= qgoco cm

d. Convert yards to feet.

5 7yards = Dt X (lyarc\)

— 5.7 x (25ec)

= 17 feer

e. Convert kilograms to grams.

Goskg— = L8 ¥ ¢4 Kﬂ)
= [0 )<€O¢903>
= (509(9,00 3

f.

Convert pounds to ounces. i

12.6 X () poud)

12.5 pounds = ,
- \20 5 )(‘(Jé"ﬁt,ﬂ;\{(";)
= 200 punces -

EUREKA i Lesson 13:
MATH

measurements.

Use whole number multiplication to express equivalent

125
Yl
/:,”‘é‘;

125 -

A0 O O

57



A STORY OF UNITS

Lesson 13 Problem Set

2. After solving, write a statement to express each conversion. The first one is done for you.

a. Convert the number of hours in a day to
minutes.

24 hours = 24 x (1 hour)
=24 x (60 minutes)
= 1,440 minutes

One day has 24 hours, which is the same as
1,440 minutes.

b. A small female gorilla weighs 68 kilograms.
How much does she weigh in grams?

é?% X |,0004
= @@)0@073

/ g/f/ymm/ e )

c. The height of a man is 1.7 meters. What is
his height in centimeters?

[. Fm, X (00 con
= [ (00 v

fméfer !5 j&ocew{t‘mgi@a

d. The capacity of a syringe is 0.08 liters. Convert
this to milliliters.

0.68 L % oo ml
sopo

///fcr 6%/%/5 /,000/}/}/7? e

e. A coyote weighs 11.3 pounds. Convert the
coyote’s weight to ounces. [ \ 3

x| &
"%
s

.3 X1k =1%0-9

| pouV\ﬂv 87}40—'[&
b e 06 S

1208

f. Analligatoris 2.3 yards long. What is the Ienﬁth

of the alligator in inches? 3 o
iyl

200y X 36w <G8 in—j
! s

Dne SMUL € ZZ/WLLS .

3¢ inches

Lesson 13:

EUREKA
MATH

measurements.

Use whole number multiplication to express equivalent

PR

=
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A STORY OF UNITS

Name

Lesson 13 Homework |

Date

1. Solve. The first one is done for

you.

a. Convert weeks to days.

6 weeks = 6 x (1 week)

=6 x (7 days)

=42 days

b. Convert years to days.

7
7 x

Xff 55 days

x ( /
265

7 years = year)

days)

Lesson 13:

EUREKA
MATH

Use whole number multiplication to express equivalent

measurements.

c. Convert meters to centimeters. d. Convert pounds to ounces. 5 }QE.Q
45m= /7[‘5 x( [ m) 12.6 pounds = 12.6 x ( | ?GMHJ} ,;
4.5 106 ‘2race b (602) ;\Z&
=4600 cm — 9\0\‘6’ 6Z ’20 ‘»6
TR
e. Convert kilograms to grams. f.  Convert yards to inches. 2 2
, 3 205
3.09 kg 3~0f4\<<|Kg) usyd 243 X (]\/c\ ~ 36
=7%.09 %j x(/,oooj> =245 X dbin 47/2
=i B a0 —_@
= 306904 ) 720
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A STORY OF UNITS

Lesson 13 Homework |

2. After solving, write a statement to express each conversion. The first one is done for you.

a. Convert the number of hours in a day to
minutes.

24 hours =24 x (1 hour)
=24 x (60 minutes)
=1,440 minutes

One day has 24 hours, which is the same as
1,440 minutes.

b. A newborn giraffe weighs about 65 kilograms.
How much does it weigh in grams?

- 5%9 X 1,0009
(06/, 000 9

One Kilogram has f,goig%

c. The average height of a female giraffe is 4.6
meters. What is her height in centimeters?

Hofm X 004z #6027

Due meber hos/c”
o hundred centimeters

d. The capacity of a beaker is 0.1 liter. Convert this
to milliliters.

Ool L K Jooom L = Jooml

l\‘&er € (,U:LZS’ ;
OOI/:Z@ 7%10(,«5@;?% millilifers

e. A pig weighs 9.8 pounds. Convert the pig’s
weight to ounces.

o-8 M x lboz = 1963

One poowwL‘ has
5 ¢ teen eancls

o .8
| 6
'H g8 B

g

f. A marker is 0.13 meters long. What is the length
in millimeters?

OOla VV[/ 7( \)DDD mwy
|20 mwv

Owe weber has
oL, ‘{—hg(}@a Indl/

e
Wil e it o

196,85

Lesson 13:

. EUREKA
MATH

measurements.

Use whole number multiplication to express equivalent
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A STORY OF UNITS

Name

Lesson 14 Problem Set |

Date

1. Solve. The first one is done for you.

a. Convert days to weeks.

<

28 days = 28 x (1 day)
it
=28 x (; week)
=§week

=4 weeks

b. Convert quarts to gallons.

20
20 quarts = __ &~ x (1 quart)

= 20 X G gallon)

]

20/
= /U— gallons

&

= . gallons

c. Convert centimeters to meters.

d. Convert meters to kilometers.

1,578 m = /}373 x( / m)

[,87 8 x(0.001km)
= /0;5 zgkm

e. Convert grams to kilograms.
6,080g= &, 080 X o i‘>
650804 X ”2‘5‘5}, \43
bo OB !@

f.  Convert milliliters to liters.

500mL= 504 X C l WlL)

l
504 mb X 7500

0909 t

EUREKA
MATH

measurements.

‘ Lesson 14: Use fraction and decimal multiplication to express equivalent
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A STORY OF UNITS Lesson 14 Problem Set m

2. After solving, write a statement to express each conversion. The first one is done for you.

a. The screen measures 24 inches. Convert24 | b. A jug of syrup holds 12 cups. Convert 12
inches to feet. cups to pints'

g )
o [ Cup
24 inches = 24 x (1 inch) /Zam/as - XS V :
i 2 L pin ’”)
=24 x (-1—15 feet) = A (2_ / 5

_2_4feet _ ,.éaz—: ? 1N (:\l
) 2
=2 feet = (p f;n‘f:S

The screen measures 24 inches or 2 feet.

c. The length of the diving board is 378 d. The capacity of a container is 1,478
centimeters. What is its length in meters? milliliters. Convert this to liters.

| a7gx(t mb)

bu Eml = '
= 1,418 *(gee )

1498 tens

378 cun = 378 (_/“”‘)

f’« ¥ )
Zj:fﬁ Y"&fa') B

- 2’7? RN, | ==
=218 welef) 00D
loco . L
= 3. T8&wnv = YL

e. Atruck weighs 3,900,000 grams. Convert f. The distance was 264,040 meters. Convert
the truck’s weight to kilograms. the distance to kilometers.

i /1
, 2od 040 m= 264, 040 x(ln)
3,900, 000 = 5,5100,&0*(1 o) 26H, 090 m= 269 gl

= 3,900,000 XCT(%BO k) = 264)040X (*/0“" 4l

A
o e la‘-‘\)oqb
— 3,400,090 = Sk LAY
“/‘l“;r 2 \,000
/i

- gcgdgodo k\(j

\/
= 3,900 Lc)

l Lesson 14: Use fraction and decimal multiplication to express equivalent

’ Eu REK'_A | measurements.
MATH



A STORY OF UNITS

Name

Lesson 14 Homework

Date

1. Solve. The first one is done for you.

a. Convert days to weeks.

42 days =42 x (1 day)
1
=42 x (; week)
= 4—72 week

=6 weeks

b. Convert quarts to gallons.

36 quarts = ?J(o x (1 quart)
S 7 i
= j(;; x (4 gallon)

S
= = Q gallons

= q gallons

c. Convert centimeters to meters.

760 cm = 7(00 x (

cm)

[
=
6o x ( [o© m)

=i “7'& m

d. Convert meters to kilometers.

2,485 m = 3!‘/35x( / m)

2,489 x(0.001km)

Mkm

e. Convert grams to kilograms.

3,090 g = 3,090 X Cii?)

= é’fﬁg‘ Kj
\, 006

= a0 Kg

L K )
o A eac
= 3,0 9o X C,OUO J

f.  Convert milliliters to liters.

sarmi= D05 . (4 mL)
/\
= 205 *(isoe L)

o s
- k’} 00 0O

= B+ 205““

measurements.

EUREKA
MATH

‘ Lesson 14: Use fraction and decimal multiplication to express equivalent
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A STORY OF UNITS

Lesson 14 Homework m

2. After solving, write a statement to express each conversion. The first one is done for you.
a. The screen measures 36 inches. Convert36 | b. A jug of juice holds 8 cups. Convert 8 cups to
inches to feet. pints.
. N
g x (1 eup)
36 inches = 36 x (1 inch) S Cu?S e > (2 \
J {¢
Y y e N
=36x(—feet) = 8 x <Z 1> )
12
% ~tc
£36 e DS
== feet . Y \[
=3 feet = Lf' ? !ﬂ'gﬁ
The screen measures 36 inches or 3 feet.
c. The length of the flower garden is 529 d. The capacity of a container is 2,060
centimeters. What is its length in meters? milliliters. Convert this to liters.
. A i
. s ( ) Y > }
5 20cm= LSOl S AT e
= = 21060 X (Ve L*j
- = Q 5 o060 \———
\, 002
e. A hippopotamus weighs 1,560,000 grams. f.  The distance was 372,060 meters. Convert
Convert the hippopotamus’ weight to the distance to kilometers. 5 ¥ >
kilograms. = e | K
il 874, 0k wee BTy S0 Tl
o oo x( o s d
560,000 4 = 'E"éolh () =272 O X——| [/ >
! ] 6 7 /{’ = %7 )Oé 7{\00‘} [\Vh,
= l/éw,apor."'rgw“ ‘«9 <
, = 272,060
1,50, 000 3]222= Ky,
1,00°
|ooc
7

= 372.06 Kny

EUREKA

MATH

l Lesson 14:

measurements.

Use fraction and decimal multiplication to express equivalent
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e Date

Solve.

1. Liza’s cat had six kittens! When Liza and her brother weighed all the kittens together, they weighed 4
pounds 2 ounces. Since all the kittens are about the same size, about how many ounces does each kitten

weigh? Ma
] POUUMLB 2 cunle S XL*
= (Y ounces t & ouncel ek %
= b6 ounceS | (a\ (L@
_—
o6

Each Kitlen weiﬁhs | euunces

2. A container of oregano is 17 pounds heavier than a container of peppercorns. Their total weight is 253
pounds. The peppercorns will be sold in one-ounce bags. How many bags of peppercorns can be made?

Ongens - P2 Tpoue [ =283, a3
> nds seppercove °Y¢ ane ; \ 1
Pe)d(ika%; ¢ poU ¥ ﬂ7\3> weti? //2:2?
' d, C\ l?oumé}
TO“G'\ :&53‘)%[“ 5 Qo\,mc\!
v (R36
= o1 2 =
13 [ x oz = 1,888 Ezg
‘ : - =3
18 Je
<\ C —5
s S
1,@%5 boﬁs ‘5{’ P@P?fffcoﬁf‘b) /\’5—%/8
can e made .

EUREKA
MATH
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3. Each costﬁme needs 46 centimeters of red ribbon and 3 times as much yellow ribbon. What is the total

length of ribbon needed for 64 costumes? Express your answer in meters. [ 558
A/L Coﬁ'tum ; = O 2
- need$ s Hécwv '53;5%{] C‘\ZZQW\) u_%__
ted Y46 cwv red  yellow i
ellow {tie 3 o ‘ £ 2
L Am& [aa]reu .. [IE9 84
i M o * (44([9
| pum % 3 L
;’O_;E;Tum{s& 11777{'5“"’Xﬁ'@/’ | (22
4 11776 v —'\’Gﬁ’fﬁ:

The fon/ /Mﬂhf of ribbon 1S W76 rm

;ig 4. When making a batch of orange juice for her basketball team, Jackie used 5 times as much water as ‘J(wa

7 ) concentrate. There were 32 more cups of water ta concentrate. \u“w( éaﬁbw‘\o\a"\ ot
(0{'{ M%S How much juice did she make in all? 5? ‘8’ 22_ s = (%_
& { -_— : + 2=

, 80t i =

5 wa{@f s c 5 4241%

‘ o (351«'}‘\ Yot 2o 44 jzjq
2949°7°
32 wmore walen i

Jacthie made Hg cupsS In all,

b. She poured the juice into quart containers. How many containers could she fill?

b% cops = 4g > {‘J‘(“P)
e 4§ X G':l c)'maﬁ)

-
LIL
"2 oo candilbi
l aCKsc fan {:\ L dd comfam@f_s —
Lesson 15: Solve two-step word problems involving measurement conversions.

» EUREKA
MATH' 68



ASTORYOFUNITS - ' Lesson 15 Homework m

Name Date

Solve.

1. Tia cut a 4 meters 8 centimeters wire into 10 equal pieces. Marta cut a 540 centimeters wire into 9 equal
pieces. How much longer is one of Marta’s wires than one of Tia’s?

Tia 405m or Y05 o

Byo+9 = o Cwv
oarla 540 myee §40com |
£ oo
— 0.8 "
9.2

/%”ZMS 5 (9.3 con /oz/y@i Fhan Tia's

2. Jay needs 19 quarts more paint for the outside of his barn than for the inside. If he uses 107 quarts in all,
how many gallons of paint will be used to paint the inside of the barn?

Y650 = Ho8 e

187
ou)fﬁ(_d&-:-(f'l”{"\q;t = ‘ j = |67 ,1@\01
IYLS(M -.—.(i \V\S((JP (ﬁf'k’”k") //55’
15
TR cteds BEALRY E e
al%g
/c'/(_(,
pR
-5

jaﬂ ou/// need L/z/ tg ﬁ)(pamz
nside of his bar/r?a

Lesson 15: Solve two-step word problems involving measurement conversions.

EUREKA
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3. String Ais 35 centimeters long. String B is 5 times as long as String A. Both are necessary to create a
decorative bottle. Find the total length of string needed for 17 identical decorative bottles. Express your
answer in meters.

e s =G O N
B= 35cmX5 T r 22

=>\0

= 75 , »
=7
Les =7 [o el R et
: :

% 1
=l ICHE

45 ElCCVV\/ 55°; g 9\\6
4 ____;//
;hd ;0]@’ 56535!{\ ;5 :)5:; 50)/341

4. Apineapple is 7 times as heavy as an orange. The pineapple also weighs 870 grams more than the

orange. |
a. What is the total weight in grams for the pineapple and orange? q 5_

i ” CLLEL L =38 igiowe
0 l"dV\ﬂ e l pwea ?f%’f'{' m'mfife v 2 »

‘ 1
Js 2y
P(W@dppte 6708 ;@??g {}-mﬁn >4 @ZO /26
orange Y bt 38

‘ Eolh M/glj)’b /Iéojmmﬁ o

b. Express the total weight of the pineapple and orange in kilogram

[lcog X 040//:/?: /1.6 Ko

Lesson 15: Solve two-step word problems involving measurement conversions.

. EUREKA
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Name Date

1. Divide. Draw place value disks to show your thinking for (a) and (c). You may draw disks on your personal
white board to solve the others if necessary.

a. 500+10 x b. 360+10
{lee) av

©2 26 (2

(fo 2;?

@% 7 o
c. 12,000+ 100 d. 450,000 + 100

| = |0
e

A% @ |
@ ' (1o (20 4, S5e0

e. 700,000 + 1,000 f. 530,000 + 100
100 5200
2. Divide. The first one is done for you.
a. 12,000 + 30 b. 12,000 + 300 c. 12,000 + 3,000
=12,000+10+3 = 12,000 % 1007 3 = 12,000 % looo 4.5
3 =12 =3
=1,200+3 =120 e .
=400 = o
d. 560,000 + 70 e. 560,000 + 700 f. 560,000 + 7,000
4500, 600 % 107 =500,000 T\®37 = 5e0,000 % 000 T)
> > o =1=36
+ 56,000 T F 5600 7 =5
= 6’, 50 = K00
EUREKA ' Lesson 16: Use divide by 10 patterns for multi-digit whole number division.
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g. 28,000 +40
= 2,600 4

= 700

h. 450,000 + 500
= US0, 60073 L0055
= 4) 560 ’.’.75

- g0

i. 810,000 + 9,000

- flojoo0 P00 + T
L=g16" %9

= Q0

3. The floor of a rectangular banquet hall has an area of 3,600 m”. The length is 90 m.
a. What is the width of the banquet hall?

0'\Om

e

“"’{
‘ 30 }

The gt

A:_ wa
W: A"'L
W = 3, 6005 A0
W= e

s 4o m

b. Asquare banquet hall has the same area. What is the length of the room?

A=SRD
S
")If;:?ds 'y

240

The side of the yoom 1S O™

c. Athird rectangular banquet hall has a perimeter of 3,600 m. What is the width if the length is 5 times

the width?

S

Tergtlh

The_width 15

EUREKA
MATH

Lesson 16:

7o a2x (1 xw)

Srep e An( }7“‘)) ¢

| §oo= |0

3004V

{ =

g =

Use divide by 10 patterns for multi-digit whole number division.

t w [2|%00
ot LL:EEU

Qoo—G = =360
1606
’36 0
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4. Two fifth graders solved 400,000 divided by 800. Carter said the answer is 500, while Kim said the answer
is 5,000.

a. Who has the correct answer? Explain your thinking.

=406 00+ |00 58 206 X G006 = YOE66,00 -
= Ui 000 < % -
= 506

Car T 1S Vj? Wt
b. What if the problem is4,000,000 divided by 8,000? What is the quotient?
e Srm o6

< B,006 AASS =
— 4,000,000 % PO =¥

! : 2 QOO
4ooe,
.
— -
= Yoo <€
= 4 00O
Eu REKA Lesson 16: Use divide by 10 patterns for multi-digit whole number division.
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Lesson 16 Homework m

Date

1. Divide. Draw place value disks to show your thinking for (a) and (c). You may draw disks on your personal

white board to solve the others if necessary.

a. 300+10 e b. 450+10
( U € %‘l
(O ) (0) — = f{’)
= - - 9 b 187
@ ©, 2 2 0
o 25 | (106 | g
c. 18,000 + 100 d. 7730,000 =100
| %6 7,300
e. 900,000 + 1,000 f. 680,000 + 1,000
4lole) 680
2. Divide. The first one is done for you.
a. 18,000 +20 b. 18,000 + 200 c. 18,000 + 2,000
=18,000+ 10+ 2 \%;oo@ - 6o =+ 2 = \%'foo" ‘ ’ow
<+ 30 -, 2 = |85 &
=1,800+2 e - <
A * 90 et
=900
d. 420,000+ 60 e. 420,000 + 600 f. 420,000 + 6,000
Sl : & e
E 42000050 T 6 26 wo sl T & L 420’000_;\@0“6
= >+ 6 L y26056 :
H42z, 000 = = 42026
= 7,000 ¥+ 762 = 70
> EUREKA Lesson 16:

MATH

Use divide by 10 patterns for multi-digit whole number division.
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8 24,000 + 30 h. 560,000 + 700 i. 450,000 + 9,000

C 24000 S 0T3 = 56060051002 F |- 45@/ e = Ji00+F
oo - | .L —:

P200 = = 5660 47 —ys56 £ 7

— Z00 & ga@ =50

A stadium holds 50,000 people. The stadium is divided into 250 different seating sections. How many
seats are in each section?

HE 005 L86 =
Si1000 5 2% = :
s There are 200 seals ineachne.

Over the course of a year, a tractor-trailer commutes 160,000 miles across America.
a. Assuming a trucker changes his tires every 40,000 miles, and that he starts with a brand new set of
tires, how many sets of tires will he use in a year?

—

iA T oo 0,000 =
lbo, oo ¢ /o005 Y =
S o
4
e w/%’/ use # sets of Zires

b. If the trucker changes the oil every 10,000 miles and he starts the year with a fresh oil change, how
many times will he change the oil in a year?

o

/6o, 66 = (0,000 =
2

The 7/72,(5/7/‘7;/ wrlf G/i@fﬂj@ the orf /& Lmes

EU“ ‘ Lesson 16: Use divide by 10 patterns for multi-digit whole number division.
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